习题课第1次作业主要错误点

Question 2
Sketch the graph of the given function.
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issues：
[bookmark: _GoBack]in the e question, some sort of students mistakes  for   or x.
in the f question, many students mistake the domain of definition of piecewise function.

Answer:
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Question 3
[bookmark: _Hlk115446076]Find expressions for the given functions, and state their ranges.
[image: ]
issues：
Many students forget to state ranges of function.

Answer:
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Question 3
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主要错误：
大部分同学能做对此题。

Answer:
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image5.png
3. Let functions f and g be defined by f(z) = 1/x and g(z) = 1/(z + 2). Find the following

functions and state their domains.

fog gof gog fof
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(a) (fog)(z) =x+2, and its domain is {z | z # =2} = (=00, —2) U (—2.oc)4
(b) Worked Solution: (go f)(z) = g(f(x)) = f(zl)ﬁ = ;_2 g
of all x for which f(x) and g(f(x)) are defined. In other words, it consists of all « for

which z # 0 and 1/x # —2. And that means that it consists of all z for which z # 0 and
x # —1/2. So the domain is {z | v # 0,2 # —1/2} = (—0c0, —1/2)U(—1/2,0) U (0, 00).

(c) (gog)(z) = ;:f Its domain is {z | * # —2,x # —5/2}.
(d) (fo f)(x) =z, and its domain is {z | z # 0} = (—00,0) U (0, 00).
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